



# DAILY TASK



# WELCOME TO OUR COMPANY

Daily Task is a modern and progressive company that provides people with the opportunity to build their own business and create sustainable earnings. Our mission is to empower individuals by offering a platform where hard work and dedication turn into real success. At Daily Task, we don't just provide work — we create business opportunities and earning possibilities for everyone.



By joining us, individuals can utilize their time and skills effectively to achieve financial growth and independence. We strongly believe that "Every day is a new task and a new opportunity to earn" — and that is the true strength of Daily Task.



#### **Our Vision**

Our vision is to become a globally recognized platform that transforms lives by creating sustainable income opportunities for everyone. We aspire to build a community where every individual can turn their daily efforts into lasting success and contribute to a prosperous future.

#### **Our Mission**

Our mission at Daily Task is to empower individuals by providing them with innovative business opportunities and a reliable earning platform. We are committed to helping people achieve financial independence, personal growth, and long-term success through dedication, consistency, and smart work.

# OUR VISION AND MISSION





# OBJECTIVE OF DAILY TASK



#### Safety of Capital

At Daily Task, we ensure the complete safety of your capital while providing you with secure and sustainable earning opportunities.



#### Income

Daily Task offers a stable and rewarding income opportunity where your efforts turn into consistent financial growth.



#### Growth

Daily Task is dedicated to driving your personal and financial growth through continuous opportunities and smart business solutions.



### WHY CHOOSE US



#### Safe & Secure Platform



We prioritize the safety of your capital and provide a trustworthy environment for your business journey.

#### **Consistent Income**



With Daily Task, your hard work is rewarded through stable and sustainable earning options.

#### **Growth & Success**



We help you achieve both personal and financial growth with innovative business solutions and continuous support.









### BUSINESS PLAN

**Smart Tasks, Secure Earnings, Strong Future** 



# FREE REGISTRATION





## JOINING AMOUNT

Rs.1000 -



## RE TOP-UP

**TOP UP CAPPING** 





## DAILY INCOME PLAN



JOINING TURN OVER	DAILY	DAYS	TOTAL AMOUNT	DIRECTS
25,000	25	100	2500	_
50,000	50	100	5000	1
1,00,000	100	100	10,000	+1
2,50,000	125	200	25,000	+2
5,00,000	250	200	50,000	+2
10,00,000	500	200	1,00,000	+2
25,00,000	625	400	2,50,000	+2
50,00,000	1250	400	5,00,000	+2
1,00,00,000	2500	400	10,00,000	+2
2,50,00,000	5000	500	25,00,000	+2
5,00,00,000	10000	500	50,00,000	+2
10,00,00,000	20000	500	1,00,00,000	+2



- For daily income you should complete your daily task.
- Daily task time is 9:30 am to 9:30 pm.



# TEAM LEVEL INCOME



LEVEL	INCOME	DIRECTS
Level 1	10%	-
Level 2	5%	3
Level 3	2%	+2
Level 4	2%	+2
Level 5	1%	+2







PIN POINT	FREE PIN	
25	1	
50	3	
100	7	
250	21	
500	51	

### TERMS AND CONDITIONS



- Minimum withdrawal Rs.500.
- ✓ Withdrawal multiple of Rs.500.
- ✓ 15% Deduction on withdrawal.
- For withdrawal 1 direct compulsory.
- Daily income will be available from Monday to Friday.
- ID re-top up after total income reaches 3x.





## Thank You

www.dailytask.co.in